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Addition and Subtraction
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Overviews (MTPs) — Website
Year 4
Number Number
Place value Addition and
FREE TRIAL subtraction

VIEW VIEW



Year 5

Number

Number

Addition
and

Place value
FREE TRIAL

subtraction

Revisit — starters/mini maths
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work
Year 6
Arithmetic Ninjas (Y6)

Place value Addition, subtraction, multiplication
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Number Sense

Addition Grid Facts Summary of strategies video

0 1 2 3 4 5 6 7 8 9 10

+
0 0+0|0+1|0+2|0+3|0+4|0+5]|0+6 | 0+7 |0+8 | 0+9 |0+10
1 1+0 | 1+1
2 |2+0 2+2 | 2+3 2+9
3 |3+0 3+2 | 3+3|3+4 3+8 | 3+9
4 4+0 4+3 | 4+4 | 4+5 4+7 | 4+8 | 4+9 o m—
Additions which cross the 10 boundary can be
cdo.n!llndby‘htldngTeﬁ first and then adding on the
5 |s+0 5+4 [5+5]5+6 [5+7 | 5+8 [5+9 i B+ 32 10w e maten 141 Th same
strategy can be applied to subtractions through 10.
6 |eo 6+5)6+6 | 6+7 648|649 e e . L o ot
from itself, the difference is 0. less than 6 + 10).
7 7+0 7+4 | 7+5 | 7+6 | 7+7 | 7+8 | 7+9 O
Doubles and Memorise :hwbles of numbers to 10, usqu a visual When the order of two numbers being added (addends)
aj ch. Then use these known double facts to is exchanged the total remains the same. Eg.1+8=8
8 8+0 8+318+4|8+5|8+6 | 8+7 | 8+8|8+9 . es c:I'::'ulo:te near doubles and hidden doubles. CtOsn':ce we m +1 Somgtirn;s r;v:ismg the otrder of the t\g»o addends
know 6 + 6 = 12 then 6 +7 and 5 + 7 is easy. 1 g makes addition easier to think about conceptually.
+
9 9+0 9+2 | 9+3 | 9+4 | 9+5 | 9+6 | 9+7 | 9+8 | 9+9
10 Ji0+0 10 +10

https://numbersensemaths.com/teacher-
portal/nff/stages/stage-5/make-10-and-then-addition



https://numbersensemaths.com/teacher-portal/nff/stages/stage-5/make-10-and-then-addition
https://numbersensemaths.com/teacher-portal/nff/stages/stage-5/make-10-and-then-addition
https://drive.google.com/file/d/1BjOqSoq-DPPPmloENgXG0A-jYWKaq_NY/view?usp=drive_link

Subtraction Grid Facts
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Models and Manipulatives

Whole

Part

Part

Bar model

Ten
Thousands

Thousands

Tens

Ones

mathsbot



https://mathsbot.com/manipulativeMenu

Addition — sequence of learning

total

sum

add
exchange
partition



Complete the sentence.

16 ones =|/1 tenand 6 ones

How do you know when to
exchange?



Use base 10 to calculate 45 + 37

CITTITITT)
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Do I need
to make an

exchange?

e aaeel
1

There are 3 tens and 2 ones.
45 + 37 = 87



Tiny is calculating 27 + 36 27 + 36 = 63
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There are 5 tens and 13 ones. ‘Q
[ 27 + 36 =513 } &

Do you agree with Tiny?
No - Tiny needs to exchange.



243 + 172 = 415

Hundreds Tens Ones
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Aim for Year 3



Dexter scores 371 points in a game.
Rosie scores 263 points.
How much do they score altogether?

Hundreds Tens Ones
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Aim for Year 3
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Aim for Year 4
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Aim for Year 5



3147 2 6 3147 2 6
+ 2 5 6|1 + 2 561
6 032 38 6 316287
1] 1 1

Not lined up place value Forgotten to add on the
columns correctly exchange

[ | do not think they are correct. g
L




— 346,221 = 184,321
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o 314 622 1
' +18 4321
53,05/ 4|2
1 1
Part + part = whole Whole — part = part

Aim for Year 6
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Aim for Year 5/6



Subtraction — sequence of learning

difference
exchange
partition



Use base 10 to calculate 43 —
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537 — 252 = 285
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Aim for Year 3



531 — 252 =279
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Aim for Year 3



4,065 — 2,128 = 1,93/
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There are not enough humdesis , so | need to
exchange 1l thdesand for 10 _huomdsds

Aim for Year 4
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Aim for Year 4
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Aim for Year 5




A factory packs 24,638 bags of balloons

in @ month.

They sell 16,545 bags of balloons.
How many bags of balloons do they have left?

24,638

1 5
21481
16 5
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Aim for Year 5



? — 6 ones = 5 ones
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Aim for Year 5/6



? — 4 thousand = 8 thousand
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Aim for Year 5/6



Any questions?
Next time — multiplication and division

What else would you like?

[ Y 7 Mu\i\p\'mt\on

% Division
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